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QUESTION 1
Which statement best describes a Software-Defined Enterprise?

A. An architecture framework designed to fully automate all IT services in all data centers removing the need for human
interaction.

B. An enterprise response to mainstream disorganization of resources in the data center that delivers on the promise of
interconnected infrastructure and software- as a-service.

C. An architecture that uses intelligence automation and common management to provide transparent governance of
infrastructure and software-as a-service.

D. An architecture that uses virtualization to replace all physical components in the data center while using localized
management and compliance to deliver infrastructure and software-as-a-service.

Correct Answer: C

QUESTION 2

An audit of a customer\\'s private cloud has found that in the event of an outage the customer would not be able to
recover virtual machines quickly enough as determined by their recovery time objective( RTO). They do not have the
budget to invest in building a separate recovery site.

A. Site Recovery Manager

B. vCloud Connector

C. vCloud Air - Disaster Recovery

D. vRealize Automation

Correct Answer: D

QUESTION 3

An administrator wants to ensure that all new virtual workloads created with vRealizeAutomation are built to the correct
specifications and are aligned with corporate service levels. Which vRealize automation feature provides this
capability?

A. Lifecycle management

B. Policy-based provisioning and governance

C. Intelligent resourceGovernor

D. Workflow and task automation

Correct Answer: B
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QUESTION 4

An organization is evaluating to a hybrid cloud infrastructure. They already manage an onsite vsphere environment and
want to better understand the benefits of migrating data to vcloud air.

What would be a compelling reason for the client to migrate to a hybrid cloud solution?

A. They will be able to use storage clusters and Storage Distributed Resource Scheduling.

B. They will be able to more easily optimize the provisioning and performance of their virtualized workloads.
C. They will be able to place their mission-critical virtual machines under Fault Tolerance rotection.

D. vRealize Automation will allow them to leverage vSphere Distributed Switches.

Correct Answer: C

QUESTION 5

A company has a multi-tier application and needs a deployment solution that will take into account CPU and memory
requirements, while ensuring that the security of each workload can be protected using dynamic firewalls.Which two
products will meet the company\\'s needs? (Choose two.)

A. vSphere Replication

B. vRealize Automation

C. vRealize Operations

D. VMware NSX

Correct Answer: BD

QUESTION 6

A company is considering deploying a Private Cloud using only physical infrastructure. Which two are benefits of using a
Software-Defined Data Center versus a physical Infrastructure? (Choose two.)

A. Zero Upgrades

B. No Cabling

C. Faster Provisioning
D. Elastic Scalability

Correct Answer: BC

QUESTION 7

An administrator is examining a data center to validate that it is operating as efficiently as possible.Which option
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represents an Efficiency challenge the administrator might face?

A. Needing to easily roll back changes to workloads during testing and development.

B. Wanting to provide multi-tenant access to cloud resources without compromising security.

C. Needing semi-isolated and autonomous environments for the application development teams.
D. Wanting to align IT costs with corporate models by classifying IT as an operating expense.

Correct Answer: C

QUESTION 8

An administrator wants to make sure that a cloud environment is performing as expected and is not exhibiting any
serious problems.Which vRealize operations super Metric will help analyze workload anomalies and faults?

A. Risk

B. Status

C. Performance
D. Health

Correct Answer: C

QUESTION 9

A development team needs enough control within their public cloud to develop and customize their web and database
applications.However they prefer to leave all maintenance and management of the underlying servers to the service
provide. Which type of services is best suited for their needs?

A. Data processing as a Service ( DPaaS)

B. Infrastructure as a Service ( 1aaS)

C. Platform as a Service (PaaS)

D. Software as a Service (SaaS)

Correct Answer: C

QUESTION 10

An administrator wants to automatically manage virtual machine change requests and services as well as remove virtual
machines when they are no longer needed. Which product includes a lifecycle management capability to help you
accomplish these tasks?

A. vRealize Automation
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B. vCenter Server
C. vRealize Operations
D. NSX Manager

Correct Answer: B
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